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1.What is the minimum number of binary digits required to store decimal
integers with a maximum of 6 digits?
(A)18 (B)19 (C)20 (D)21

2.Refer to the exhibit shown below. Consider the IP address configuration

shown from PC1. What is a description of the default gateway address?

(A)It is the IP address of the Routerl interface that connects the
company to the Internet.

(B)It is the IP address of the Routerl interface that connects the PC1
LAN to Routerl.

(C)lt is the IP address of Switchl that connects PC1 to other devices on
the same LAN.

(D)It is the IP address of the ISP network device located in the cloud.

Ethernet adapter Local Area Connection:

Connection—specific DNS Suffix . : launchmodem.com
IP S : 192.168.1.95

: 255.255.255.0

: 192.168.1.254




3.Which device should be used for routing a packet to a remote network?

(A)DHCP server (B)switch
(C)router (D)DNS server

4, Is a basic algorithm that arranges data according to its value.
(A)Inquiry  (B)Sorting (C)Searching (D)Recursion

5. How many times the statement in the following code segment in C is
executed?
for (int 1=5; i<21; i++) {
statement;
I=i+1;

¥

(A)16 (B)15 (C)9 (D)8
6.3 F T 3 Je BE 4R 3 P-4 (medium access control) > 3V 5 = f& o
* JIJ il ;FI:IZ » q—\

(A) % #& (exchange) (B)+g . (reservation)

(C)#4 (contention) (D) #77 (round-robin)

TAP¥>S OSl 23 #5% » T 74 ji;fa__ﬁ% D
(A)ied Z (router) it e 2 Ry
(B)TCP/IP %t e g &
(C)E-mail = ji * K
(D) #% % (bridge) =+ AL K

8.9 B T 4 B (LAN) S0 T 51 ip % 45 382
(A)r2 3 R Spe -1 Pord 48 ~ 08 2 TRl & ek
(B)7 i * TS - Hdp i (MODEM) R i @51
(C)+ 48 i¢ * ki 4 (BUS NETWORK)
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int K=0, i=0, j=0;
for(i=0; i<10; i=i+2){
for(j=1; j<i; j=+1){
K++;
¥

¥
printf(“%d\n”, K);
(A)20 (B)26 (©)30 (D)36
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11.What sequence of values will be printed when the following
instructions are executed?

X7,
if (X <7) then (print the value 15;
Y« 6)
else (print the value 7;
Y« 5)

If (Y ==5) then (print the value 3)
else (print the value 1)
(A)15 1 (B)7 3 C7 1 (D)15 1
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(A) B2 B)F#TH  (C)ks (D)% 2

13.What the values of output of Java language?
public class Precedence {
public static void main(String[] args) {
double x =1.6, y=4.1;
inta = (int) (y - 2/X);
System.out.printin("fa="+a);} }
(A)a=3 (B)a=2 (C)a=4 (D)a=1.1
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(A)01 (B)0O (C)02 (D)03
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15.What will happen when you attempt to compile and run the following
class ?
public class Cs {
public static void main(String [ ] args){
intx =0;
for(int i=0; i<10; i++) {
outerloop:
for(int j=0; j<3; j++) {
If(i==1 && j==2) continue;
iIf(i==1 && j==0) break outerloop;

X++;
¥
¥
System.out.print(x);
}
}
(A)26 (B)27 (C)28 (D)20
165K T ol clikeiF 3 N FRES R TR AL XDELZ R ?
intx =3;
int N = 65536;
for (inti=2;i<=N;i=i*i*i)
{
X=X+1;
¥
(A)6 (B)65537 (C)512 (D)134217728

17.% = #7\|(Fibonacci numbers) Z_s 4 : F(0)=0, F(1)=1, F(i) = F(i-1)
+F(i-2) fori>1 - 3K F(10) =
(A)55 (B)21 (©)89 (D)144
(A)11011100 (B)11011000  (C)11111000 (D)11010000
19.7 FaAR S erze b R 2 fLennffog 5
(A)Fields Medal (B)Tang Prize (C)Wolf Prize  (D)Turing Award
2053k £ % KA ANHVE A M R TR R
(A)Stack (B)Queue (C)Tree (D)Graph
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1. Assume that the following program is compiled and linked into
executable test.exe. What is the result after the execution of test 1051
#include <stdio.h>
int fun()

{

static int s=0;
s+=1;

return s;

}

main(int argc,char *argv| ])
{
int n,i=0;
while (argv[1][i]!="0")
{ n=fun();
i++}
printf("%d\n",n*argc);
}
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3.Design an algorithm by using pseudo code to find all the factors of a

positive integer. For example, in the case of the integer 9, your
algorithm should report the values 1, 3 and 9.
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